Math 221- Spring 2010 - Test 2
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Instructions. Only calculators are allowed on this examination. Point values of each problem are indicated.
Always use the appropriate wording and units of measure in your answers (when applicable).
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. Compute the following limits (When defined). You can not justify your answer with a graph.
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2. (20 pts) Discuss the continuity of the function f(z) = 1—z z>1
223 — 1, z<1
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3. (25 pts) Graph the functions A(z) = —|z|, f(z) = zsin =, and g(z) = |z| in the same window of your
z
graphing calculator. Use the Squeeze Theorem to find the limit lirr%) f(x).
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